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RCZ ¥
IEfz 3ZIE K4 FhIE 60m 50m 40m HEFt 10 X &%
1| 2D|Fth ERERIETTHR| 238 237 263 738 16 5
2 | 6 D|EE I RLUTTHE 198 253 254 705 16 7
3| 1C|=5%HE EER|ACHZE 209 236 243 688 10 1
41 4D |EBE mF |ACHE 172 211 249 632 8 2
5|5 CUIs BF [#ramrime| 211 190 211 612 5 1
6 | 3C|HME =8F|#H7AdeA 210 180 189 579 5 2
RCE ¥
IEf  3ZIE K4 FhIE 60m 50m 40m HiF 10 X &%
1| 7B|NEx sk [BEHT7HE 241 256 277 774 26 | 10
2| 8D RE 71 MroEm 7B E| 248 251 267 766 18 6
3| 1B|RE XE |MERDT7TH= 236 256 266 758 12 2
41 1A[EK FE |BEhmT7H= 244 257 256 757 16 5
5| 8 BN i |ACHZE 253 238 263 754 20 3
6 | 5A|EE SR |Hramr7He| 236 244 268 748 9 2
7|7 C|ETH X |MBEhTHe 220 244 265 729 15 4
8| 3B|/NH BE |mERMT7H= 225 246 257 728 14 4
9| 2ClEFE &% |MERHMT7H= 217 241 261 719 12 7
10 7 A|RE =x |ACHZE 227 233 248 708 10 2
11| 8 C |/hfe BUIE |feEm 7 #HE 218 240 248 706 16 3
12| 8 AllL XB] (@7 AamT7He| 245 225 235 705 15 2
13| 4 AR Bk |[@oram7He| 209 236 257 702 13 3
14 2 A [lBHE I |BLHmT7H= 215 233 247 695 7 3
15| 3 A =% = HEm TR 214 240 235 689 12 6
16| 6 A |4 X wramrHel 202 223 237 662 3 0
17| 4 C|KK EE |TRERMT7HR 193 224 203 620 7 0
18| 6 C|:2R RHHEX|MERERMT7HE 171 200 245 616 7 4
19 5 B (Wl E¥E |mEHT7TH= 159 196 240 595 11 5




